
6 x 12 

1 kg est une masse 

égale à : 

a. 100 g 

b. 10 g 

c. 1 000 g Réponse : c 

2 kg est une masse 

égale à : 

a. 2 g 

b. 2 000 g 

c. 200 g Réponse : b 

10 kg est une masse 

égale à : 

a. 1 000 g 

b. 10 000 g 

c. 100 000 g Réponse : b  

1 500 g est une masse 

égale à : 

a. 15 kg 

b. 150 g 

c. 1 kg 500 g Réponse : c 

1 050 g est une masse 

égale à : 

a. 15 kg 

b. 1 kg 500 g 

c. 1 kg 50 g Réponse : c 

5 100 g est une masse 

égale à : 

a. 51 kg 

b. 5 kg 100 g 

c. 5 kg 10 g Réponse : b 

Un paquet de 800 g 

pèse : 

a. Plus de 1 kg 

b. Moins de 1 kg 

c. 1 kg Réponse : b 

1 litre est une 

contenance égale à : 

a. 100 cl 

b. 1 000 cl 

c. 1 g Réponse : a 


